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Note 1 This paper contains fifty (50) objective type questions of two (2) marks each. All questions
arc compulsory.

1.  From the following statements of Assertion (A) and Reasoning (R), indicate the correct
code
Asserlion (A) : Industrial liberalisalion became an imperative condition for the growth of
forces of competition leading to high cfficiency and productivity in Indian
industries.
Reasoning (R) : Industrial development and curbing of poverty is only possible through
governmenl inlervention.

Code :

(1)  {(A) and (R) both arc not correct.

(2)  (A) is correct but (R) is not the correct explanation of (A).

(3)  (A) is correct and (R) is correct explanation of (A).

(4)  (A) is not correct but (R) is correct.

2. Which of the following statements are not correct ?

Statement (I) Sustainable development means an altempt to achieve the balance
between economic growth and conservation / protection of
environment.

Statement (II) : Sustainable development means meeting the needs of industries
without compromising the needs of import - export balancing.

Statement (III) : Sustainable development means creation of sulficient surplus budgels
through stock of capital assets including land.

Code :

(1)  Statements (I) and (III) (2)  Statements (II) and (IIT)

(3)  Statements (I) and (II) (4)  Statements (I), (ITI) and (III)

wd

Match items of List - [ with List - I rtflating to macro environmaoent of business and mdicate
the code of correct matching :

List - I List - II
(a)  Econmomic environment (i)  Lthical issues
(b)  Political and government (1)  Trade and transport policies
environment
(c)  Socio - cultural environment (iii) Leconomic stralification of population
(d)  Demographic environment (iv) Judiciary powers
Code :
(@) (b) (¢ (d)
O G v @ ()
(2) @) () () (iv)
(3)  (v) () () (1)
(4)  (1ii) (1 v) (il

P2

) (V) (i)
eoost || 11 AN

Paper-II
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4.  For which one of the basic reasons, the “Structural Adjustment Programme”™ was undertaken
in India in 1991 ?

(1)  Curbing competition among private sector
(2)  Establishing predominant role of public sector
(3)  Lstablishing a free market economy
(4)  Regional balancing through planning and licensing,
5.  Match the items of List - I with List - II and indicate the correct code of matching :
List - I List - II
(a)  Micro external environment (i)  Economic and political factors
(b)  Macro external environment (i) Compelition among diverse products
targetting disposable income of consumers

(c)  Non - price competition (ii1)  Input suppliers
(d)  Desire compelition (iv) Sponsoring of events like sports
Code

@ ® (© (d
1 G @ G
@ ) i) (v) O
(3) (i) (i) () ()
4 Gv) @ () (i)

6.  Asscrtion (A) : Debt - equity ratio indicates the long term solvency of a company.
Reasoning (R) : Tt measures the ability of the company to pay off its long term labilities.
Select the correct answer from the code given below :

(1) Both (A) and (R) are correct and (R) 15 the correct reason for (A).

(2)  Both (A) and (R) are correct but (R) does not explain (A) correctly.
(3)  (A) is correct but (R) is wrong.
(4)  (A) is wrong but (R) is correct.

7. The balance of property at cost has been < 20,000 and 17,000 in 2015 and 2016, respectively.
The profit on the sale of property of < 2,000 is credited to Capital Reserve Account. New
property costing ¥ 3,000 was bought in 2016. Determine the sale proceeds from property.

(1) T 3,000 2) % 7,000 (3) T 10,000 4) T 15,000

8.  Goodwill of a firm of X and Y is valued at ¥ 30,000. It is appearing in the books at ¥ 12,000.
Z 1s admitted for 1/4 share. What amount he is supposed to bring for goodwill 7
(1 < 3,000 ) < 4,500 (3) T 7500 (4) I 10,500

) (2
aost7 [ [IHTLLACA ‘ Faperl
i PR AREERE R R fE He b
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FfaREgd o ¥ &M 9 Tk difcter ol 3 a8 1991 § 9Ra ' S JaEeH sewd ' %
[ERIRIEIF:

(1) Tsil &3 | gfqeasi <67 A 3 <k o7 |

(2)  EESITHR &35 hi GHE YHeR €0 i & forg |

(3) K SIS Aol shi TN & Teru |

(4y Tom @R eEdfan & gR @5 gqed wenfua & F faw

It - 1 3 Gt - 11 & "al %1 gofea Hifee 18 98 Aam =& %2 % 5aed

e -1 e - 11
(a) AT SR A (i) TR SR TSI e
(b)  EHE SR TR (i) SUHRRIS <k TARY HAM ] dAfed Hid U fafay seqmel
o gfaeas]

(¢) TR-7oF uiqerH] (iif) ST STYfiehd]
(d) =ifzd gfaeaH (iv) TA-HE S I 1 UTETSA HT]
ohd

(a) (b) () (d)
(1) (i) @ (v) (i)
(2) () ) (Gv) o (i)
(3) () () (i) (i)
(4) (w) (@ (1) (i)

ATTHIT (A) :  B-THAT S0 (6l YA 1 a8 -Filoleh TIPS §THa1 31 307 Hdl ¢ |
ek (R) : 715 ToRdt St =1 Srelehiferes SAMIST o1 YA HET T &7 ohl HIUAT T |
A= fam 70 2 9 HEl TR A

(1) (A) SR (R) 1 T & IR (R), (A) T T IR L

(2)  (A) SR (R) THI &1 § Thg (R), (A) 1 TEl A1 721 F4@7 5 |
(3)  (A) TR T f—ﬂ, ) T % |

(4) (A) 7ed © g (R) 9E1 ©

]

o 2015 am 2016 H Torel |l =1 &Fd 919 A9 T 20,000 R T 17,000 o1 | 99fq =i fael 9T
g T 2,000 T w14 q‘sﬁ STRiEra rar o Sw1 3 fear T @y 2016 H T 5,000 A HE A3 H9G
Tm:m?rﬁ % Torhl 113 =7 T Fitely |

(1) T 3,00 (2) T 7,000 (3) T 10,000 (4) T 15,000

X SR Y % WH i =Ad & 9o 3 30,000 81 9% agi@d 5 3 12,000 fegl 73 3 Z &1 1/4

oo <k foru waw foqn 7191 € | 98 | o forg, faaet qfdn e 2

(1) T 3,000 (2) T 4,500 3) T 7,500 (4) T 10,500
~onst [ [ [HITRTHINN
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A Ltd. issued a prospectus inviting applications for 2,000 shares. Applications were received
for 3,000 shares and pro-rata allotment was made on the applications of 2,400 shares. 1f A
has been allotted 40 shares, how many shares he must have applied for ?

(1) 40 2) 44 (3) 48 (4) 52

Which ome of the following receipts is of revenue nature ?
(1) Amount realised from the sale of investments

(2)  Dividend received on mvestment
(3)  Amount borrowed from a bank
@)

Compensation recetved from municipal corporation for the acquisition of land for the
construclion of road.

Statemenl (I): Business decision makers deal with the complex, rather chaolic, business
conditions of the real world and have to [ind the way to their destination,
l.e, achieving the goal that they set for themselves.

Statement (II) @ Even without application of economic logic and tools of analysis, business
decisions are alwayvs rational and real and are not counter productive.

Code :

(1) Both the statements are correct.

(2)  Both the statements are incorrect.

(3)  Statement (I) is correct while statement (II) is incorrect.
(4)  Statement (I) is incorrect while statement (IT) is correct.

Which one of the [ollowing statemenls is true ?
(1)  Pure profit is the return in excess of the opportunity cost

(2)  Accounting profit is the excess of total revenue over and above the explicit and implicit
costs

(3)  Profit maximization 1s the sole objective of the modern firms

(4)  Profit is maximum when the difference between margmal revenuce and marginal cost
15 maximuim

Which one of the [ollowing is not the assumption on which the theory of consumer behaviour
is based on the cardinal utility approach 7

(1)  Rationality

(2)  Constant marginal utility [rom successive unils
(3)  Constant marginal utility of money
(%)

4)  Utility 1s measurable

oot [NV ; Paper.i
T PO REED BTt 0 Ea foi i
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A fafgez = 2,000 19T & ToTu srereT SAHE shid gU Iiearo St fman 1 3,000 37907 <k forg, sfreed
T TU 3T 2,400 0¥ o STERAl WX A 199 steed e ) Afg A w40 9T srefed gy
FHA Tehd 2 ok ToTw, SAreeA T grm ?

(1) 40 2) 44 (3) 48 (4) 52

et el | | shiA-Hl SRR Yehid i § 7
(1)  TerT =1 fopht ¥ 9 e=afy

(2) 999 T Ured ensre
(3) =% Wl T SHL HAE

(4)  EZeh ok A <k ToT0 y-ofsiq 2q T FH 9 9 a1fdqyfd

FHAT (1) SHTE sl {0l sedicish STd =i SfZel 37U 376 - =4 =Hedd S9Nl |
f9ed & qu7 19 Tiaed o AU TR Tehierd ©; 19l 3%l Sl a9 ¥899 o [
ad T 2 39 91a &3 B |

HU (10) faversm = s1iffen @k iR STsrel w1 @] . fomr off sream wasd o wca
Bl Teh HITd T ArEdfash 31d § 39X 9fd 30986 78 B § |

e :
(1) TFEFHYE 981§ (2) I T e § |

(3) I (1) a2l ¢ 9o hHeH ([[)Tﬁﬂ%l (4) =R (1) TTeld g Safh A (IT) RS

frfafea & ¥ =0 91 w99 Wt 72
(1) TG TN FTER AN W A G 2 |

(2) T Y T qUT A<iled ANl o HUL el STH T ST T

(3)  3MYTeh FHI AT TH-HTH 3239 4 ohl HHHTH LA ¢ |

(4) HERT ST AR HHE AE o 6| AT SIa g U A STHeRad g § |

fraferfeg O 9 fE-o1 =2 orad) 981 © fogd 399sdar =asr =1 foara ToHEeTs ST IUrTy O
#efiig € 2

(1) Tod=yiea

(2

S geRTgA] @l Had GiHd ST

)
(3) o =1 Haq "Era e
)

(4) ST AL S HeRl §

oot [N 7
T i R e
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14.  Statement (I) : Point price elasticity of demand in terms of marginal and average revenues
can be measured with the [ollowing formula :
AR
AR-MR
Statement (II) @ The point price elasticity of demand is the product of the slope of the demand
function and the ralio belween corresponding price and quantity,
Code :
(1} Both the statements are correct.
(2} Both the statements are incorrect.
(3)  Statement (I) is correct while statement (II) is incorrect,
(4)  Statement {I) 1s incorrect while statement (1T} 1s correct.
15.  Which one of the [ollowing is not the basic property of indifference curves ?
(1) Negative slope
(2)  Indifference curves of two imperfect subslitutes are concave to the point of origin
(3)  The indifference curves do not intersect nor are they tangent to one another
(4)  Upper indifference curves indicate a higher levels of satisfaction
16. The scale of measurement which has no order, distance and uniqgue origin is known as which
one of the following ?
(1)  Nominal scale (2)  Ordinal scale  (3) Interval scale  (4) Ratio scale
17.  The formula to determine the number of classes given by Sturge’s Rule is which one of the
[ollowing 7
(1) K=1+3.322(log N)
(2)  K=(log N)1.322
T+ 3322
(3 == .
(log N)
3322
(4) K= —2=2
(log N) + 1
Where : K = Number of classes
N = Total number of observalions
(log N} = Logarithm of the total number of observations
18.  Which one of the following is not the characteristics of normal distribution ?
(1)  Bell - shaped and symmetric
(2)  Mean, Median and Mode of the distribution are equal
(3)  The total arca under the curve for the normal probability distribution is one
(4)  The two tails of the distribution in both the directions touches the horizontal axis
o [ LRV 8 ek
1 [ | L 1l
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EEX
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(3) YA () §81 § Salh wed () Taa g1 (4) U (1) 79 § Stafn U (1) 981 6 |
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(1) RMHF el

(2) 1 STqt wfaRerTI SEqst 1 ST 9% 3gH feg ¥ AR B T

(3) ICTHM T Uk GEL hl A el © U8 US-gEL ] DI T R § |
(4) 9L TR IeMHIA T3 GqfE W S=IaY Tl 99d € |

16. IO =1 O f8H 9 HE E, 9 g @ SR T U Sed © a1 39 9 o e gy e s g 2
(1)  ATHETE 99T (2) HUYHE UAMT (3) AU THAT (4)  STIYE THE]

17, W s femgman sidenfufasas = dg ﬁ?{—waﬁ%ﬁ T 7
(1) K=1+3.322(log N)
(2)  K=(log N)1.322

: 14 3322
D ey
Shi el
@ K=
(log N} + 1

N = TefUll =hi el H&AT
(log, N} =&l =1 el WA T ANTHGH

18. = 9 @ F@-9 wror faaeo =t femwant 9@ € 2
(1) =T SRR Te HHA
(2)  ToraTor k1 |ie, AifeEeh Us Sgeten W1l T "HA
(3)  HTH HHTEAT T9aL0 <k {70 =%k =1 el &3 U Bl 2 |
faar = <M1 s fafas g3 =1 w99 e B

@)
oo |11 I )




www.prepp.in rrepp

Your Personal Exams Guide

19.  Asscrtion (A) @ A reasonably sized sample drawn randomly from large sized population

contains almost all the characteristics which exist in the population.

Reasoning (R) : The theory of sampling is based on the two important laws of statistics,
viz., Law of statistical Regularity and law of inertia of large numbers.

Code :

(1)  Both (&) and (R) are correct and (R) is the complete explanation of (A).

(2)  Both (&) and (R) are correct but (R) is not the complete explanation of (A).

(3)  (A) 1s not correct while (R) is correct.

(4)  Both (A) and (R) are not correct.

20. Statement (I) : If the alternative hypothesis is as Ha : pspg; a researcher requires two -
tailed test in hypothesis - testing,.

Statement (II) : The mean of the sampling distribution of mean is not equal to the paramelric
value of mean.

Code :

(1) Both the statemenls are lrue.

(2)  Both the statements are false.

(3)  Statement (I) is true, while statement (IT) 1s falsce.
(4)  Statement (I) 1s false, while statement (1) 1s frue.

21. Malch the items of List - I with List - IT ; and choose the correct code of combination :

List - I List - 1I

(a) The Fundamentals of Top Management (i)  Peter F. Drucker
(b)  Middle Management (1) R.C. Davis
(¢)  The Essence of Management fing ElL.F. Beggh
(d) Principles and Practice of Managemenl (iv)  Maryv Caushing Nile
Code :

@ () (0 ()
) G) @) @D Q)
@ () (v @ (i)
@) () @) @ )
@ ) @ O 6

22.  Statement (I) : Management is not just a creature of the economy; it is a creator as well.
Statement (II) : He who can manage, can manage anything,.
Code ;
(1) Statement (I) is correct but (II)
(2)  Statement (II) is correct but (I)
(3)  Both the statemenls ( ) and (II) are incorrect.
(4)

st | AN

15 mncorreck.

15 mncorreck.

Both the statements (I) and (IT) are correct.
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(1) (A) 3R (R ]?:WH%’“T% IR (R), (A) ST 9U] ST 2 |
(2)  (A) 3T (R) < =2 ¥ fog {R) (A) =1 Ui =31 =Tef § |
(3)  (A) W&l 76l § S&iw (R) W8l §
(4)  (A) SR (R) THI Hé] T2 2 |
20. TR (I) : ST ofehfeeh Iehed™ 1 &9 Ha : wpg 8l; A T SR Bl THHe]
WieqW & T 21 Y& < TiEm i sTeedehal 2kl ¢ |
HAT (11) : H1= % TeeA TR a1 HIed, Wied ok Yricieh Hod o aXIer el 2l ¢
he

bl

(1) EW?T?EIIETEI
(2) Ml YA TG € |
(3) YA (1) ¥91 T Saleh e (1) Ted ‘E*

(4) YA (I) T § Sefeh wed (1) §El ©

21. W@ - 1% Hal &1 Tl - 11 1 7el | GHTor =i 3R HarsH = 981 %2 A

et -1 =il - 11

(a) T WEHZeH 1% 29 HisHe (i) e U g
(b) THE® Hisz (i) S 2™
(c) T T 3k HisHz (i) .UAUE. o4
(d) Tufouew vs Ufaew s Heime (iv) T =i i
e -
(@) (b) (c) (d)
(1) () v) () @)
(2) (i) (v) (1) (i)
(3) (i) (@ (@) (iv)
(4) (i) vy ) (i)
22. WA (D) :  HoeH reeuowen o Yo WA I E, TE geihdl Hf £l
HAT (1) : ¥ S U Y Rl ©, T9 S Ja-H FH bl ¢ |
<hd ;
(1) = (I) H-g?t % a0 (D) ¥ T8 21 (2) = (1) ¥al © fohq (1) 9E1 781 %
(3) A () AR () SA WE AR E 1 (4)  wAA (1) R (1) AT HWEl 2
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23.  Asscrtion (A) : Due to these experiments (Time, Motion and Fatigue Studies ) a factory
does not remain a factory, it is converted into a laboratory.

Reasoning (R) 1 Management succeeds or fails as human relations in business are intelligently
or unintelligently handled.

Code :

(1)  Both (A) and (R) are correct and (R) is the right explanation of (A).

(2)  Both (A) and (R) are correct but (R) is not the right explanation of (A).
(3} (A) is correct but (R} is not correct.

(4)  (R) is correct but (A) is not correct.

24.  Who among the following is not associated with theories of motivation ?
(1) A.H. Maslow (2)  Cris Argyris
(3)  Frederick Herzberg (4)  Peter F. Drucker

25.  As per the Herzberg's Hyglene Theory of motivation, which among the following is not a
motivational factor ?

(1)  Recognilion (2)  Working Conditions
(3} Responsibility (4)  Achievements

26.  When Walt Disney World's Magic kingdom lets customers visit a fairy kingdom, a pirate
ship, or a haunted house, then what is marketed in this example ?

(1) Services (2)  Events (3) Experiences (4) ldeas

27.  Which one of the following statements is true according to VALS framework of psychographic

segmentation ?

(1) The consumers who are primarily molivated by ideals are guided by knowledge and
principles.

(2)  The consumers who are motivated by achievement look for knowledge and principles.

(3)  The consumers who are motivated by sell expression don’t desire social or physical
activity, varicty, and risk.

(4)  The consumers who are motivated by achicvement desire social or physical activity,
variety, and risk,

28. T'rom the following two statements of Assertion (A) and Reason (R), indicate the correct

code :

Assertion (A) @ A transformational appeal of communication elaborates on a non-product
related benefit or image.

Reasoning (R) : Transformational appeals often do not attempt to stir up emotions that will
motivate purchase.

Code :

(1) (A) and (R) both are correct, (2)  (A) 1s correct (R) is not correct,

_,-1

) 1s not correct (R) is correct. (4)  (A) and (R) both are incorrect.

(3)  (A)
st [ WH\HHHH\HHH
I | Il
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AT (A) : T TAM (FH3, T 3R 1A SALFd) = 01 FIg ], HEM 981 & Sl
T, 78 AT H F5e] 5] € |

TR (R) : Zeard U Tahdel IrgAH! a1 Jlge -l o AFa adi ¥ 2] 9761 g, ga-[ 36 W
ae 91 fawhet 3T & |

<hd

(1) (A) 3R (R) IHI T2 § 3 (R), (A) ] Tl =AEA 2|
(2)  (A) R (R) SF 2T € Thq (R), (A) 1 G&1 =R T2 ¢ |
(3)  (A) Wl T TRy (R) &I &1 & |

(4) (R) 9e & T (A) 981 721 |

frefafaa ° o om sifiry & f9gra ¥ Hag 780 § 2

(1) Q= HE (2) @W LAY
(3) TR gSe (4) Ui Th. gt

TSTe] o BTN AU & IR T9g & SAJER M=aigd | 3 -9 SAYUIuIHeS S Tl
F7
LI

{1) HI=dl (2} =h[H a'ﬁ QQ”U:_ {F’;:l ARG (4) W = @P:ﬁ'

stel aiee fesHt acey Hfea frmen IudEastl ®1 UF S, el SEiel A1 U 4d =R i Yo
FAA © Al 36 I H oheeh] v 2 € ?
(1) ¥em (2) ST (3) g (4) foemd

A TeR AR il aed (VALS) g9 o I AR fAfafad § 3 SiH-H1 oA T8 8 7

(1) g faari & sifaufa g ot sqdea 31 o77 fagra 9 ffog 5 €

(2) St ¥ sfaufid g arel ST 9 3R fagra i @ret i § |

(3) AT A=At | ATHURE T 9Tel SUHE] GHTSeh 1 IR SEehald, fafasdr a1 s
(4) TEFFFFEH ° &wawd 2 ATl SUUIET HrHTtSid A1 IR FreEmery, fafavar v sifey =
o

il

FefaiEd 21 weuHl, ATReA (A) IR @k (R) ¥ el %2 A it
TR (A) :  TFR ol BURRUE 1ol TR-S09E WaT9d oY 41 S i e FLdl 2 |

ek (R) : EOT-L0TY STUTe] SgH TG ol ST HAaret FAI9TE) ohl Iqfad i 1 JAH
TEl L € |

che :

(1) (&) 3T (R) 5T =& 5 (@) (A)¥ () Tew @

(3) (A)TTEEE (R) HETE (@) (A) 3R (R) 31 TeE
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29. Select the correct sequence for Hierarchy-of-effects model related to marketing

communicalion :
(1)  Awareness— Knowledge — Liking — Preference— Conviction — Purchase
(2)  Knowledge — Awareness — Liking —  Conviction — Preference — Purchase
3)

(4) Liking — Awareness — Knowledge — Preference — Conviction — Purchase

Awareness — Liking — Knowledge — Conviction — Preference — Purchase

30. Match the items of List - I with the items of List - IT and denote the code of correct
matching :
List - I List - II
(a)  Basic Product (1) Set of altributes and conditions buyers normally expect
(b)  Expected Product (i)  Possible augmentation and transformation the product
might undergo in future
(¢)  Augmented Product (iif) Exceed customer expectations
(d)  Potential Product (iv) Converting core benefits into product
Code :
@ () (g (d)
W) ) @ )
@ 0 Gi) () G
(3) (1) (iv) (i) (i)
4 (v) @ @) (i)
31.  Which of the following sltalements is false 7
(1)  The opportunity cost of an input is considered in capital budgeting
(2)  Capital budgeting decisions are reversible in nature
(3)  Cash flows and accounting profits are different
(4)  An expansion decision is a capital budgeting decision
32. Match the items of List - 1 with thosc of List - Il and indicate the correct code :
List - I List - II
(a)  ABC Analysis (1) Dividend Decision
(b)  Walter Model (i)  Capital Budgeting Decision
(c) Capital Rationing (iii) Capital Structure Decision
(d)  Net Operating Income (iv)  Working Capital Management Decision
Approach
Code :
@ () (¢ (d)
(L) @) @ @) (iv)
@ @ 0 @) ()
@) (v) () @) (i)
@ o0 M 6w
oo [ [JHNIETAL FaperT
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30. T - [F Hal %1 g9l - 11 % 7el § gHTad shitee 27 921 0ol 1 $2 307 i

(a)
()

(1)
(2)
(3)
(4)

g -1 e - 11

el J0e (i) 7O AN Il WY TSEeh] ol |EEaE S i 2
& S e (i) SIE % Hads ud wyreor 1 faer § e |

| CIE TSI (iii)  IrEET T e ¥ s g S

A= Fcqe (iv) ol o4l =l Ieae H el

(@) (b) () (d)

(i) (v) (0 (i)

(1) (i) (iv) (i)

() (v) (i) (i)

(iv) (1) (D) (id)

31. Ty=fefEd § 9 9 o & o ¢ 7

(1) ixsﬂ sted H Uk ST &l STEER @d 31 249 ° 1@ 5 ¢ |

(2) IS sied fut faweredt wafa o B ¥

(3) g YA SR oHEl Y STen- 3T § |

(4) fowR fof o g0 aeted o §

32, ¥ - 190 Hal %1 = - 11! Hal & |19 gaferd Y A7 92l %2 =l faf=d i

gt -1 =T - 11

(a) WS fovers (i)  @rare AR

(b) HME HIZ (il)  gsil s g

(¢) gt =T Qi) gsi gt fofg

(d) ¥g HEeE S SUETH (iv) A g yeiEe o

ehe
(@) (b) (c) (d)

(1) () () (iv)

(2) () (H () (v

(3) (i‘v’) (1'3' (i') (”1)

(4) ! (iv)
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Main objective of employing Financial Leverage is to :

(1)  Reduce the risk associated with profits

(2)  Maintain the stability in profits
(3)  Decrease the cost of debt capital
(4)  Magnify the returm on equity share capital

Which one of the following is nol a method of calculating cost of equily capital ?
(1)  Dividend yield method

(2)  Dividend yield plus growth method
(3)  Yield to maturity method
(4)  Earnings vield method

Which one of the [ollowing equales the present value of cash out flows and the present value
of cxpected cash intflows from a project ?

(1) Net Present Value (2)  Internal Rate of Return

(3)  Pay back Period (4)  Accounting Rate of Return

Which one of the following is not true ?

(1)  Material resources are subject to laws of mechanics and they cannot have an output
greater than the input.

(2)  Human resources are capable of exponential growth and development.

(3)  THuman resources cannot yvield an output that may be [ar greater than what the value
of their input warrants.

(4)  In current scenario, gradually, the emphasis has shifted from muscle power to use of
mind power.

The pluralistic approach of industrial conflict 1s based on which one of the following basic
assumption / premise ?

(1) That conflict occurs when the tendency of industrial society is lo treal worker as an
1solated individual and deprive him of all control over his environment

(2)  That an enterprise contain people with coalition of different interests
(3)  That industrial conflict is a part of the broader social conflicl between classes

(4)  Thal no consensus is possible, in case of conflicls, because people are with dilferent
socio - cultural backgrounds.

The Job Description Index (JDI) Technique is used for measuring which one of the
tollowing 7

(1) Job attitudes (2)  Job descriptions/definitions

(3)  Job analvsis records (4)  Job skill requirements

oot [NV Paper.i
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39.  From the following two statements of Assertion (A) and Reasoning (R) indicate the correct
code :

Assertion (A) ¢ Development in HRM is a short-term educational process with temporary
intervention.,

Reasoning (R) : It is a educalional process utilizing a svslematic and organized procedure
for development of operative employees performance in current jobs.

(A) is correct and (R) is correct explanation ol (A).

(A) 1s correct, but (R) is not correct explanation of (A).
(A) is not correct, but (R) is corroct.

(A) and (R) both are not correct.

40. Match items of List - I with List - Il rclating to methods of pertormance appraisal and
indicale the correct code of matching, -
List - I List - II
(a)  Paired comparison method (i)  Reviewing emplovee records and holding
interview on delinite test queslions.
(b)  Forced choice description method (i) Set of pair phrases or descriptive statements

(¢)  Critical Incidents method (iii)  Differentiating between effective and non -
elfective performance on basis of achievements

(d)  Field review method (iv) Relative ranking method

Code

(a) (b) (e}
(v) @) ()
(i) (i) (iv) (i
(
(

s

P I e

() @ @)
(i v

——n e

B

41.  Match the following items of List - I with the items of List - II and indicate the code of
correct maltching :

[ist - I List - [1
(Name of organisalion) (Year of establishment)
(a) 1DBI (i) 1956
(by 1CIC] [{) 1953
(c) LIC of India (i) 1990
(d)  SIDBI (iv) 1964
Code :
@ () (© (@
W GO @ 6w
@ @) 0 @)
(3)  (v) @) @) ()
@0 G @) )
wanss || IIIRATAN Faper
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39, TefaiEd sTUeReE (A) 3R @k (R) o 21 94 § 981 &< gad &g
ATURYT (A) :  HIE GHIEA Yo H [FehTe sTeerml] T6aer o WY Seqehlicreh S1eiineh giehdl 2 |
deh (R) g FAA AU W R FHEl & s & fas & fou srafirm qer
qTTSa Ufhar o1 YAW &% U Uah Seqioreh Fishal ¢ |
he @
(1) (A) 581 & 2 (R), (A) =1 HET =S B
(2)  (A) WE © g (R), (A) =1 98T =@ 74 7|
(3) (A) TR 7=, fhg (R) TR € |
(4)  (A) 3R (R) I Tl = 7
40. s TTSIEA godishd gfadi | Hetad g2t - [ o1 el - gl ¥ gt itag 3R 9 & Tl
%< 1 301 AT ;
el - | il - 11
(a) T goi ggid (i)  HHEN <k SUTHCTE] o] HHE w1 e M= g
AT o HATHR 9T HIAIERR T
(by ST =g TR 95l (il)  GTH S9N Rl TG A1 a0 hed
(¢) WEEYY ¥l Ugd (i) STl ok SYR T YA IR 7495
FTATNET & sig faug
(d) &= HHia ggid (iv) wTafegeR Yok - FuRor ugld
he @
(@) (b) (c) (d)
(1) (iv) (i) (iif) (1)
(2) () (i) Gv) (@)
(3) (i) (@) (v) (i)
(4) () (v) @ (D)
41, H=l - [ 1 TGl 1 gl - 11 waf = 91 gufad %1 3R 981 %2 = fafga s
el - I =T - 11
( WIS oRT A19) ( TITUAT AT 9 )
(a) TS 101,31 (i) 1956
(b) 3T Hl. 317§l 4178 (i) 1955
(c) TUTLARE 3 sfea (i) 1990
(d) THSTE ST (iv) 1964
ehe
(@) (b) (o (d)
() () @ (@) (v
(2) () (1) (v) (i)
(3)  (Ov) () (1) (111)
(4y (1) (@) [ (iv)
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Statement (I) :  Capital adequacy norms help banks in strengthening their capital base,

Statement (II) : Capital adequacy norms help banks in sanctioning more loans.

(1) Both the Statements (I) and (II) are correct,
) Both the Statements (I) and (II) are incorrect.
(3)  Statement (I) is correct but (II) is incorrect,
)

Statemenl (I) is incorrect but (IT) is correct.

Whalt is Hawala ?

(1)  Tax evasion (2)  Ilegal trading in stock exchanges
(3)  Bank robbery (4) Illegal transactions of foreign exchange

Read the following cvents :

(i)  Capital adequacy norms for commercial banks

(if)  Establishment of 1DBI

(ii1)  Allowing convertibility of rupee at the market rate in the current account,
(iv) Nalionalisation of general insurance business

Arrange the cvents in the ascending order of their occurrance :

) ), G, G, () @) (i), (i), (i), (i)

3 (), (i), ), (i) @ () (i), (), )

Assertion (A) : The future will see mostly the electronic moneyv clearance through satellite
networking.

Reasoning (R) : RBI is encouraging e-banking,.

Code :

(1) (A) is true but (R) is false.

(2)  (A) is [alse but (R) is true,

(3)  Both (A) and (R) arc truc and (R) is the correct explanation of (A).
(4)  Both (A) and (R) are true but (R) does not support (A).

Statement (I) :  Developing countries can borrow more than their quota under Extended
Fund Facility (EFF) of IMF.

Statement (II) : The Extended Fund Facility (EFF) was created in 1984 to help the developing
countries over longer period upto 3 vears.

Code :

(1)  Statement (I} is correct but (II) is not correct.

(2)  Statement (IT) is correct but (I) is not correct.

(3)  Both the staterments ( ) and (I} are correct.

(

(4)  Both the statements (I) and (II) are not correct.

st | AN 2
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HYT (1) : YN TATal TAHH Sehi o] R STER Yot 2 Asied id o T8 Fld 2 |
T

SR (1) : YSit TATdr WaHT ok =1 314 B WiFHd 1 H 7eg W ¢ |

he o
(1)  wed (I) 3R He= (I1) TH T2 2| (2) YA () 3R =R (1) S Tord

(3) R () T T AR M () T B (4) SR (1) oI § SR R (1) TEl

EIIEE %r ?
(1) =T ST (2) i THEES § 6y SN
(3) F% sl (4) o<l Hg7 1 319y TH-3

frefafaa sest =i 9

(i)  SAEEIAE S & T g gEa giade

(if)  31E BT =l 31 i TI9]

(itf) =Te] WA H AR Te U TU ki fafTHaar s 1t

(iv) STC STINH SHTIR <R U2 IEehi]

ST 1 SR Wfed B o TRl v H =rafied Hif

(1) (1), (i), (i), (iv) (2)  (iv), (idd), (i), ()
(3)  (iv), (i1), (1), (iid) (4) (1), (i), (1v), (iid)

AFYHRYT (A) . TeAEe Tedient & g vfawr 4 fyemiva: sosis 99 e g |
Teh (R) :  SIRETSTE., $-Sifeht =] Yiednied idl © |

ohe

(1) (A) 9&l g oifeFd (R) 7o T |

(2) (A) e g SR (R) 987 3 |

(3) {A)d (R) TF |&T § 3 (R), (A) 1 T A=A T |

(4) (A) 3R (R) SHI T2T € TR (R), (A) 1 HAA 1 Ll |

AT (1) : L. UAUE o FoEqriid s e & s7=aid Toehmegiiel <91 3774 ki | #AHeE THR o
TH G |

SRU (11) : Taearia s giawn, 1984 H fasrmagiier <9 =i di1 =4 deh sl SHE g6 \8Eal & forg
fafi ot 18 off |

he :

(1) /A () W2 g oA (1) Hal A2l £ |

(2) R (II) §31 § TR (1) §el 81 T |

(3) @UA (1) 3R /YA (11) TH WLl 2 |

(4)  ®IF (1) AR wmed (1) SH1 981 =1 2 |
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Match the items of List - I with those of List - II; and choose the correct code of
combination :

List -1 List - II
(a) Poverty Reduction (1y 1997
and Growth Facility(PRGF)
(b)  Supplemental Reserve Facility (SRF) (i) 1974
(c) Lxtended Fund Facility(ELL) (iii) 1999

@ (k) (o)

(1) () (@) (1)
(2)  (u) () (1

) (i) (@) (i)

) ) W ()
Who among the following has given Absolute Advantage Model of international trade ?
(1)  Adam Smith (2)  David Recardo
(3)  Hackscher Ohlin (4)  William Petty

Which among the following is not an international economic institution ?

(1) IMF (2) IBRD (3)  ADB (4)  TFRS

Assertion (A) The fall in aggregate expenditure or aggregate demand in the economy
works to reduce imports and help in solving the balance of payment
problems.

Reasoning (R) The important way to reduce imports and thereby reduce deficit in

balance of payments is to adopt monetary and [iscal policies that aims
al reducing aggregate expenditure in the cconomy.

Code

(1)  (A) and (R) both are correct and (R) supports (A).

(2)  (A) and (R) both are correct but (R) does not support (A).
(3)  (A) 1s correct but (R) 1s incorrect.

(4)  (R) 1s correct but (A) 1s incorrect.

~olo-

~anse [ IIRATAN 2
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T - [ %1 Hal &l G2l - 11 "el 6 |19 GHleTd i SN G o "2l F2 1 G

el - 1 = - 11
(a) THET H HH 3R Fhg ghaw (df AR ST UR) (1) 1997
(b)  ATYLH AR FEeT (TH AN UF) i) 1974
(c) ToEmita &9 giaen (3 7% UF) (i) 1999
che :

CRNCINC
ORIV
@ G @ 0
@ @ G

@) () ) G

TT=TeRgd O o o S sM9R & ue] @Y 9y g1 ?

o

(3)  EEL Bl

L) ()

EEEREE A

gy
ay P

(1) TEH =y (2)

frefafaa o 9 S 91 STaRre ™ sTfees Heem 78 g ?
(1) &5 ud % (2) SRS ARE (3) WEH

b N

(4) @I U 3R UH

R (A) ; AT H GHE w9 S99 9L 601 § fRae S =1 %0 % 1w R 3N

YT W ol ST & J91eE § °8g il 2

ek (R) :  SITATd ¥ A 1 Heea g0l 91 SN 39k 3R YA Hger | 9121, AT 3R TN

it sh] TeuT =hidT & TSigehT o9 s1derasyr O 99t 99 0 F47 ¢ |

ehe

(1) (A) 3R (R) THI HE § 317 (R), (A) T FHLT 31 ¢ |

(2) (A) ¥ (R) 391 T3 & ofeRT (R), (A) 1 90T T2 3 |
(3)  (A) 5@ T wifHT (R) 7@ ©

(4) (R) @&l § @ferd (A) 74 T |
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